
LÖSUNG ZU bsp-6326-3/XTJX
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Aufgaben-Quickname: 6326

Aufgabe 1
Quick:
6326

Lege den Betrag mit möglichst wenigen Scheinen und Münzen.

a) Betrag: EUR 3,83

b) Betrag: EUR 0,98

c) Betrag: EUR 3,16

Aufgabe 2
Quick:
6326

Welcher Betrag ist hier dargestellt?

a) Betrag: EUR 0,69

b) Betrag: EUR 4,53

c) Betrag: EUR 3,24

Aufgabe 3
Quick:
6326

Welcher Betrag ist hier dargestellt?

a) Betrag: EUR 96,42
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b) Betrag: EUR 27,59

c) Betrag: EUR 29,37

Aufgabe 4
Quick:
6326

Welcher Betrag ist hier dargestellt?

a) Betrag: EUR 8,83

b) Betrag: EUR 3,15

c) Betrag: EUR 1,43

Viel Erfolg!
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